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The soldiers fought the enemy bravely . deloin gusll dgiedl Uylo-)
The soldiers fought the enemy for three consecutive days. sl sgidl oyl dlgie B pLY-Y
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The soldiers fought the enemy to free the besieged city. 8 polod) dioudl y ot gusll sgiedl Uyl
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The brave Arab soldiers fought the enemy with all their might for three consecutive days to free
the besieged city
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The main reason behind the increased involvement in the manufacture of strategic weapons lies
in the current conflict between the East and the West
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The reason lies in the conflict. glpall d] gy el O
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He is not here b o ]
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He will not be here L 3650 o)

He has not been here for the last two hours sl el B L 35S0 <L

He is not being cooperative )Y ’USLQ_“, S Y 4_31)

He may not be here FESRTS CRURE

He cannot be here b (959 ol S Y
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He should not have been here (He ought not to have FESRING QT o 08 b
been here )
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